Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [47631-2007

S.Y. B.Com. EXAMINATION, 2015
BANKING AND FINANCE
Special Paper 1
(Indian Banking System)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the structure of banking system in India. [16]
2. Explain the role of the State Bank of India. [16]
Or

Explain the arguments for and against Nationalisation of Banks in

India.

3. (a) State the performance of Private Sector Banks. [8]
(b) Distinguish between Commercial Banks and Co-operative
Banks. [8]

P.T.O.



Or
(a) State the various functions of NABARD.

(b) State the functions of Regional Rural Banks.

4, Explain in detail the functions of Reserve Bank of India. [16]

5. Write short notes on (any fwo) : [16]
(1) Recommendations of the Narsimham Committee—II (1998)
(2) Primary Agricultural Co-operative Credit Society
(3) Principles of Co-operation

(4) Role of Microfinance.

(S wUie)
d9% : o9 a™ THUT 0T ;80
o :— (i) §d 9 afen  smed.
(i) oS s o T el
({ii) USHEIS He3 TUSH U4l TR
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3, (31) Wl ASAIG Skl HMEM T H. [8]

(9) O deh SO HEHhRI SRl ANIG Tl | [8]
feRar
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-2008

S.Y. B.Com. EXAMINATION, 2015
BUSINESS LAWS AND PRACTICES
Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the following terms under Maharashtra Agricultural Produce
Marketing (Regulation) Act, 1963 : [16]
(i) Farmer
(ii) Buyer
(iii) Coolie

(zv) Retail Sales.

2. Explain the objectives of Life Insurance Corporation. State its constitution
and powers. [16]

Or
Explain the term Insurance Policy. State the characteristics of

Insurance. [16]

P.T.O.



3. (a)
(b)

(@)

(b)

Procedure of receiving amount of Insurance claim. [8]

Explain the basic principles of Fire Insurance Policies. [8]
Or

Explain the provisions of Industrial Dispute Act, 1947 as regards

‘Lay-off and ‘Retrenchment’. [8]

State the Registration and Formation of Partnership under

Partnership Act, 1952. [8]

4, Explain the terms and conditions for Registration of Co-operative
Society under the Maharashtra Co-operative Societies Act, 1960. [16]

5. Write short notes on (any fwo) : [16]
(i) Types of Marine Insurance Policies
(ii) Features of Co-operative Society
(izi) Strikes and Lockout
(iv) Incoming Partner.
(AOE ®UI)
q% : o\ A TEHU T ;80

M :— (j) T WA SAeRIR  3TRA
(ii) ISEhele ok G qU U SFifadm.
({ii) USHMEIS He3 TUSH U4l TRl

o (al o

1. HWeReE FH 3O @El-faswl fEmA wrEEl, 1963 TR YEe Heheddl TR

U

(@)
(i1)
(ii1)
(iv)
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2.  Seq fom frmeEn Sfesey we & o=t dfear sufor eifeeer @i [16]

feRar
fom wiSEt & dehoum T 4. famrh Afmew @i [16]
3. (91 fomm 9 fHewash wEdSd. [8]
(9) of fa=r= Hoyd 9 9. 8]
feRar
(31) i woe HAEl, 1947 TR ‘HMEMEN FHHaRAr ST HEMR FHara’
AT el T h. [8]
(9) FfieRl *MEl, 1952 THR AFieR) See iqufl enifor wemgen (fAfidt)
gfear fare +q. [8]

4, TENSE WEHRl TR HES], 1960 Sdd TEhRl T HICUEESt STeRds
U 31 ST aRqger &L [16]

5. deRm foor fem (P €F) [16]
() EWR faEE 9HR
(i) WeHWl wEE Sfire
(i) §9 offor ereedt
(jv) HFGR W& & YFieRM=T Yol
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [47631-2009

S.Y. B.Com. EXAMINATION, 2015
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Explain the history of co-operative legislation in India. [16]

2. Explain the need and objectives of Multi-state Co-operative
Societies Act. [16]
Or

Discuss the progress and problems of Co-operative Sugar Factories

in India. [16]
3. (a) State the problems of Housing Co-operatives. [8]
(b) Explain the significance of Rural Development. [8]

Or

(a) Explain the management structure of Co-operative Society. [8]

(b) Explain the development strategy of ‘Model Village’. [8]

P.T.O.



4, Explain the structure and limitations of Panchayat Raj System in

India. [16]

5. Write short notes on (any fwo) : [16]
(1) Advantages and disadvantages of Globalization
(2) Importance of People’s participation in rural development
(3) Mass Approach of rural development

(4) Views of Mahatma Jotiba Phule about Rural Development.

(TS wuie)
d9% : o9 a™ THUT 0T ;80
o :— (i) §d WA diefau seRds R
(i) SodwEe s gl T gl
({ii) USHMEIS He3 TUSH U4l TR

1. YRS HehRl HIEcal sfded T & [16]
2, TR0 WERRl W hEedEl RS N 3fged ' &L [16]
ferar

YRATdS Hehll 9B FREET Wdt 3ol gaei=n == . [16]
3. (31) WP TR TSN TEHS1 HAT. [8]
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(31) UEhRl TEI HAAOH AT TR A [8]
() fomrar=h ‘ezl uM' SEEAT WEROH [8]
4, YNONe ‘TEREM TS HAESE AT SN HARl e & [16]
5. deRn foo fom (So@E dF) [16]
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Total No. of Questions—35] [Total No. of Printed Pages—4+1
Seat
No. [4763]-2010
S.Y. B.Com. EXAMINATION, 2015
COST AND WORKS ACCOUNTING
Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iii) Use of calculator is allowed.
1. (A) Fill in the blanks : [5]
(1) Royalty Payable is to be treated as .........cccoveeieennn.e.
expenses.
(2) The total of Prime Cost and Factory overheads is known
AS e, cost
(3) Goods Received Note is prepared by the .........ccccceeeeeeniin.
department.
(€ is a document recording the return of
unused material.
(5)  Differential Piece Rates in computation of earnings (High

and Low) were introduced by .........cccooeirrnnnnnnn. .

P.T.O.



(B) State whether the following statements are True or False : [5]

(1) Cost Accounting can replace Financial Accounting.

(2) A service cost centre renders services to production
departments.

(3) Stock of slow moving material should be strictly
controlled.

(4) Time booking is essential for ensuring discipline in
attendance.

(5) Wages are guaranteed in piece rate system of

remuneration.

2. Define and explain the term ‘Cost’. Explain various elements of cost

in detail. [15]
Or
(A) Explain the features and uses of direct costing. [10]
(B) List the essentials of sound wage system. [5]
3. Write short notes on (any three) : [15]

(1) Use of Computer in Store Accounting
(2) Cost Unit and Cost Centre

(3) Methods of measuring Labour turnover
(4) Job Analysis

(5) Concept of ABC Analysis.

[4763]-2010 2



4. (A)

[4763]-2010

The following is the data of Aryan Industries Ltd., Nasik for
the year ended 31st March, 2015 :

Particulars Amount (Rs.)
Opening stock of material 30,000
Direct wages 55,000
Interim dividend paid 12,000
Purchases of material 87,000
Heating and Lighting 6,000
Counting House Salaries 20,000
Carriage Inward 3,000
Commission on Sales 5,000
Wages Payable 5,000
Technical Director’s Fees 10,000
Closing stock of material 40,000
Show-room Expenses 7,000
Office Expenses 12,000
Share Transfer Fees 2,000
Expenses of Testing Labs 4,000
Branch office expenses 8,000
Advertising 8,000
Sales 2,50,000

Prepare a cost sheet showing :

(a) Cost of material consumed

3 P.T.O.



(B)

5. (A

[4763]-2010

(b) Prime cost
(c) Factory cost
(d) Cost of production

(e) Total cost

(f) Profit or Loss. [15]
From the following information calculate the material Turnover
Ratio of Product X : [5]
Opening stock of material Rs. 50,000
Closing stock of material Rs. 30,000
Purchases Rs. 3,80,000
Prepare a Store Ledger Account under First In First Out method,
from the following information : [10]
March
2015

1 Opening stock 500 units @ Rs. 20 each

4 Purchases 400 units @ Rs. 21 each

6 Issue 600 units

8 Purchases 800 units @ Rs. 24 each

9 Issue 500 units

13 Issue 300 units

24 Purchases 500 units @ Rs. 25 each

28 Issue 400 units

4



(B)

[4763]-2010

From the following information of a manufacturing company
working for 8 hours, calculate for each of these two employees
the total earnings under : [10]
(a) Straight Piece Rate method

(b) Halsey Premium Plan.

Hourly Rate of wages : Rs. 4

Standard Time for 10 units : 1 Hour

Actual output for a day of 8 hours :

J Skilled Employee : 80 units

J Unskilled Employee : 120 units.



Total No. of Questions—4] [Total No. of Printed Pages—4+2

Seat

No. [4763]-2011

S.Y. B.Com. EXAMINATION, 2015
BUSINESS STATISTICS
Special Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz1) Use of statistical tables and calculator is allowed.

1. Attempt any five of the following : [10]
(@) Given N = 50, (o) = 28, (B) = 30, (af) = 13, find (AB).
(b) Explain the term cyclical variation in time series.
(c) State utility of life tables.
(d) How will you convert the maximization assignment problem
to minimization ?
(¢)  When will you get unbounded solution in simplex algorithm ?

(f)  Given Tgg = 32, lg5 = 21, find expectation of life at age 95 [e095].

P.T.O.



@)

2. Attempt any four of the following : [20]
(@ Given rq9 = 059, ryg = 046 and r9g = 0.77, find r9g4
and R o3.
(b) Complete the Life table :
Age Ly d, Py qx Ly Ty
4 9100 60 ? ? ? 510000
5 ? 45 9017.5 ?

(c)

(d)

[4763]-2011

Given o = 0.3, estimate the profit for the year 2015 using

exponential smoothing method for :

Year Profit (in crores)
2014 3.6
2015 4.2

In an institute out of 200 students 140 are boys. In an examination

100 boys and 40 girls passed. Determine coefficient of association

between

sex and success.

Compute the CDR and STDR for two populations A and B

taking population B as standard population :

Age group A B
Population | Deaths | Population | Deaths
0—30 5000 150 6000 240
30—60 7000 210 8000 160
Above 60 3000 120 250 75
2




(e) Given N = 12000, (A) = 977, (B) = 1185, (C) = 596,
(AB) = 453, (AC) = 284, (BC) = 250, (ABC) = 127. Find
(ABy), (aBC), (AbC), (aBy), (ABy).

(fA Define the terms :

(i)  Order of class
(1) Additive model

(ziz1) Vital events.

3. Attempt any four of the following : [20]
(a) Fit a trend line to the following data by least square
method :
Year Production
1998 12
1999 20
2000 28
2001 32
2002 50
(b) Compute three yearly moving average for the following
data :
Year Sugar Production
1971 374
1972 31.1
1973 38.7
1974 39.5
1975 479
1976 42.6
1977 484
1978 64.6
1979 58.4

[4763]-2011 3 P.T.O.



(¢c) Explain the procedure of fitting of second degree curve to
a given time series.
(d) Obtain initial basic feasible solution using North West Corner

method for the following transportation problem :

Markets — D, D, Dg Dy Supply
Sources |
0, 15 0 20 10 50
0, 12 8 1 20 50
O3 0 16 14 18 100
Demand 30 40 60 70 200

Also find the corresponding transportation cost.

(e) A company has four plants A, B, C, D and each produces
product P, Q, R and S. The labour cost for product at plant
is tabulated as follows :

P Q R S

7 0 4 7

3 1 2 3

Q =W »

5 3 4 6

D 5 7 2 5

Assign product to plant so as to minimize labour cost.

[4763]-2011 4



()  Obtain dual of the following LPP :
Maximize Z = X; - Xy + 3X3
Subject to X; + X9 + X3 £10

2Xy - X5 - X3

IA

2
92X, — 2Xy — 3X3 < 6
X;, Xy, X3 > 0.

4, Attempt any two of the following : [30]

(a) Given the following information, obtain plane of regression

d xg3 on xq and x9. Also estimate xg3 when x; = 9 and
X9 = 17
X = 6.8 X, = 1.0 X3 = 74
o; = 1.0 o9 = 0.80 og = 9.0
rig = 0.60 rig = 0.70 rog = 0.65
(b) Calculate GFR, TFR, GRR and NRR for data given below :
Age group | No.of Women | No. oflive No. of live Survival
(in years) (in 000) Male births | Female births Rate
15—19 25 400 400 0.96
20—24 20 1300 1100 0.94
25—29 18 1100 900 0.92
30—34 15 700 800 0.90
35—39 12 200 300 0.88
40—44 6 65 55 0.81
45—49 4 6 4 0.83

[4763]-2011 5 P.T.O.



(c) Solve the following LPP by simplex method :

Maximize Profit Z = 4X + 8Y
Subjected to 20X + 50Y < 700
X+Y <20

XY > 0.

(d) Given the following initial basic feasible solution. Obtain the
final optimal solution using MODI method for the following

transportation problem :

Sources |
0, 19 30 50 10| (7) 7

0, 70 30 [(2)|40|(7) |60 9
O3 0](5)|6 |(e)|70 120(7) 18

Demand 5 8 7 14 34

Also find the corresponding transportation -cost.

[4763]-2011 6



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4763]-2012

S.Y. B.Com. EXAMINATION, 2015
BUSINESS ENTREPRENEURSHIP
Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is ‘Entrepreneurship’ ? Explain in detail the competencies of
Entrepreneurs. [16]

Or
Explain the Entrepreneurial Career of Dr. Vitthalrao Vikhe Patil,

Pravranagar. [16]

2. What is ‘Social Responsibility’ ? Explain the Social Responsibilities
of business towards shareholders and employees. [16]

Or
Define the term ‘Innovation’. Explain in detail the sources of

Innovation. [16]

P.T.O.



3. (A) What is ‘Creativity’ ? Explain the techniques and tools of
creativity. [8]
Or
State the reasons for problems of Unemployment in India. [8]
(B) Explain the steps in starting Franchisee Business. [8]
Or
What is ‘Group Entrepreneurship’ ? Explain the merits and

demerits of Group Entrepreneurship. [8]

4. Define the term ‘Franchising’. State the advantages of Franchising
Business to the Franchisee and Franchisor. [16]

Or
Define the term ‘Service’. Explain in detail the types of Service

Industry. [16]

5. Write short notes on (any four) : [16]
(A) Contribution of Shree Dhananjayrao Gadgil
(B) Challenges of Globalization and Entrepreneurship Development
(C) Importance of Self-Help Group
(D) Business Process Outsourcing
(E) Need of Entrepreneurship

(F) Opportunities to Service Industry in Urban Area.

[4763]-2012 2
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(i) SoEhEl® 3w ol U eFifaa.

1. SESTohdl U I 7 SESihd  &JHal Hfosay T . [16]
ferar
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SAFG-I] ¥ h. [16]
ferar

el aXd (a) [l o Gla) haN l(\

TAMHTT Il RS <. AdHHdE Bd 9

Tl ™o h. [16]

3. (A fAfddiemar wmow s 2 fAfddtema=n @em enfor sizey s
EX [8]
fepar

~ aY ~

YRAdS USRI THS R0 T 6. [8]
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fepar
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SRR Heslaum==rg 3o ®wrEe T .

fepar
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[16]

gl AT G AR <. FareadrEE fafay R gfasdt T 4. [16]
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TSR faskm oAt SMTfderonydle  efreem™

5. deHE fonr fogr (fveE |r)
(A) it ueERE MEfe A AEE
(B)
(C) I WeEdl e HEd
(D) e Eaed HaEE gkl
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-2013

S.Y. B.Com. EXAMINATION, 2015
MARKETING MANAGEMENT
Special Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Marketing Management. Explain the characteristics of Marketing

in Indian context. [16]

2. Define Marketing Communication. Describe the different forms of

appeal for communication. [16]
Or
What are the tasks involved in services marketing ? [16]
3. (a) What are the challenges before E-Marketing ? [8]
(b) Discuss the strategies for Online Marketing. [8]
Or
(a) State the importance of Rural Marketing. [8]

(b) What are the Marketing Strategies for Rural Marketing ? [§]
P.T.O.



4, Explain the role of Marketing Manager in Green Marketing. [16]

5. Write short notes on (any fwo) : [16]
(a) Features of Global Marketing
(b) Advantages of E-Marketing
(c) Consumer Behaviour and Marketing

(d) Present status of Rural Marketing in India.

(A0S ®UI)

q% : o\ A T TOT ;80
o :— () ¥d 9y disfan sfead eRa.
(i) SoEheEle 3w ol U eFifaa.

1. foaouH SHoEATA= ATl Wl ORdreal gewid faquerst afirse Tuse

EX [16]

2, fauoE wRITeoRATE] AR W WITgEAId oMM Shivgred fafay dgdie

ELERCTIE [16]
feRar

Hor faquemg gaifase sTuRt & Sl ? [16]

3. (31) I-TmiT YE SARM HIUT ? 8]

(9) SO’ HehicT= Feladl ==l & [8]
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(1) T fouuHrRE AW 9L [8]
(&) Ui faquHre faqoE SEtE shiven ? 8]
4, B fIUUEN fouue SHewAThT=l iR T H. [16]
5. deHd foor fewr (g @) [16]

(1) Srfaer  fagoArl SR

(F) I-TEhicT™ HREQ
(F) UEH aqq ofor fagoe
(¥) YRadie Urer fauoEr]  ged feerd.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-2014

S.Y. B.Com. EXAMINATION, 2015
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Special Paper 1
(Theory)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the role of Agriculture in economic development. [16]
2. Explain the nature and scope of Agricultural Economics. [16]
Or

Explain in detail the factors affecting the demand for Agricultural

Product. [16]
3. (a) Explain the importance of Industrial Economics. [8]
(b) Explain the types of diversification of firm. [8]

Or

(a) Explain the factors determining optimum size of a firm. [§]

P.T.O.



(b) State the causes of survival of Small Firm in modern

economy. [8]

4. Explain the Sargent Florence’s theory of Industrial location. [16]

5. Write short notes on (any fwo) : [16]
(a) Concept of Plant, Firm and Industry
(b) Industrial Integration
(¢c) Causes of Industrial Monopoly

(d) Economic factors of Industrial Efficiency.

(WS ®aia)
q9% : o a™ R CUNERNC

M :— () T WA Grefl STeRds SR
(i) IoEhel® 3T U IO SFifadm.

(iii) TRUES! HB TUSH WIAULIRI Tl

1. onfder foskmma e fyen w2 &6 [16]
2, T AWM WEY MU A TR FH. [16]
fepar

FITHIGTAT HITUeR UM &0k eeh Mokl T H. [16]
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3, (31) oI AR WEd TR H. [8]

(&) saEeen fafadieome yeR T & [8]
fepar
(37) SENEEEE UIW SMRRAM SUGUR ®Esh TS . [8]

(F) oMy AdHIEd @M SArEel feRd [EUARN ®RU |EM. (8]

4, Ul TG ImEn SfEnfte T fAfedEn faga T s [16]

5, deRn foor fem (P €M) [16]
(37) TIAA, SUNEEN T SENES] A Hehoul
() SiEfih TR
(%) oiEnfies W= SR
(2) oienfir wElamma snfed =
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4763]-2015

S.Y. B.Com. EXAMINATION, 2015
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) Define strategic planning.
(2) Define ‘operational control’.
(3) What do you mean by war time economy ?
(4) What is War Finance ?
(5) Write any two merits of peace time economy.
(6) Define logistics.
(7)  Define threat perception.
(8) Define military leadership.

(9) State the meaning of political ideology.

P.T.O.



(10)
(11)
(12)

(13)

(D
(2)
(3)
(4)

(D)
(2)
(3)
(4)

(D)
(2)
(3)
(4)

[4763]-2015

What do you mean by deficit finance ?
State the meaning of productive defence expenditure.
Write two importance of performance budget.

Write any two elements of war potential.

Answer in 50 words each (any two) : [10]

Explain the merits of war time economy.
Analyse India’s defence expenditure from 1962-1971.
Explain mobilization of resources for defence.

Discuss consequence of war on national economy.

Answer in 150 words each (any fwo) : [20]

Describe techniques of controlling inflation.
Explain the problems of transfer of technology.
Discuss relationship between War and Economy.

Explain Defence Vs. Development.

Answer in 300 words each (any fwo) : [30]

Explain importance and process of Defence Planning.
Analyse role of private sector in India’s Defence Production.
Discuss the role of D.R.D.O. in India’s Defence Production.

Describe salient features of Indian economy.

2



(WS ®aia)

d% : o a™ TeRUT ot @ 80
o :— (i) §d WA diefau eRds R

(i) IoEhEl® 3T U IO SFifadm.

1. T 20 IS OSW oSl (HIURR Q@) e [20]

(1)

o o

gy fESE=l e .

(2) ‘IAfUEHe w<e e <l
(3) IshloH AT WIS HE  ?
(4) ISt Fdhod "IN S ?
(5) INadepTeM  SAdTaEE wvE g YU ol
(6) ‘UEEl HIRAYH'= Al <l
(7) o Hehodd SATEA <.
(8) ‘TRl AJcl’=l ARl <l
9) ‘TS foemruam=n w9 fomn
(10) fewifqe wEAMFE WIS %™ ?
(11) SOEHET WU TF BN & ?
(12) wMEifvgE s1dgheds ®Hoe e "eequ o foml.
(13) JSTIId HUGRl G FSh TS B
2, TR 50 TRM SW o (FUNE EF) [10]
(1) JshloH JdTIdD TTUEH T H.
(2) 1962 T 1971 T FOUEMG WRA WHU T fagosm .
(3) TRV WSS WEFEUiEl TAHMT T .
(4) JsH T Sdeaeder wurear fafay aRomderea ==i &
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4763]-2016

S.Y. B.Com. EXAMINATION, 2015
INSURANCE, TRANSPORT AND TOURISM
Paper 1
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Explain the various types of General Insurance. [16]
2. Explain the procedure of taking Life Insurance Policy. [16]
Or

Explain the comparison between Life Insurance and General

Insurance. [16]
3. (a) Explain the types of Tourist Accommodation. [8]
(b) Explain the scope of Tourism. [8]

Or

(a) Explain the impact of Tourism on social and cultural aspects
of the Society. [8]

(b) Explain types of Tourists. [8]

P.T.O.



4, Define Tourism. Explain the various types of Tourism. [16]

5. Write short notes on (any fwo) : [16]
(@) Sport Tourism
(b) Tourist Guide
(¢) Fire Insurance

(d) Marine Insurance.

(W& ®UIR)
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Total No. of Questions—35] [Total No. of Printed Pages—4+1

Seat

No. [4763]-2017

S.Y. B.Com. EXAMINATION, 2015
COMPUTER PROGRAMMING AND APPLICATION
(VBScript and RDBMS)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Answer the following questions (any 4) : [8]
(1) State how to display information in VBScript.
(2) State the scope of variables.
(3) What is table ?
(4) What is join ?
(5) State the types of operators in SQL with their

syntax.

P.T.O.



(B) Give the output of the following section of code (any 2) : [§]

(1) <HTML>
<Body>
<script language = “vbscript” type = “text/vbscript”>
varl a = 30
var2 b = 40
Dim res
res = varl * var2
document.write(“The value of res : 7, & res)
</Script>
</Body>
</HTML>
(2) <HTML>
<Body>

<script language = “vbscript” type = “text/vbscript”>
Dim a = 3, b = 6, ¢ = 10
if a > b then
document.write(“a is greater”)
else if b > ¢
document.write(“b is greater”)
else
document.write(“c is greater”)
end if
end if
</Script>
</Body>

</HTML>
[4763]-2017 2



(3) <HTML>
<Body>
<script language = “vbscript” type = “text/vbscript”>
Dim h = 100
Dim b = 20
area = 0.5 * h * b

document.write(“Area : ”, & area)
</Script>
</Body>
</HTML>
2. Attempt any two of the following : [16]

(1) Explain the scope of variables in VBScript.
(2) What does VBScript manipulate ?
(3) Explain the simple view, also state how does it differ from

complex view.

3. (A) Answer the following questions (any 2) : [8]
(1) Solve the following :
(i)  Create table department (dno, dname, location, budget).
(ii) Display all records of table department.
(ii1) Display all department name which are located in
Pune and budget > 30000.
(iv) Delete table department.
[4763]-2017 3 P.T.O.



(2)

(3)

Given : Musician(mno, mname, type, rate_for _show)

(i) Display musician names who are guitarist.

(ii) Add one column “city” in musician.

(iit) Show description of the table musician.

(iv) Insert one record of musician.

Given : student(sno, sname, marks)

(i) Display student details who have maximum marks.

(ii) Display all records in which student name starts
with ‘ba%’.

(itzi) Count all records of student.

(iv) Display student name which have marks between

60 and 90.

(B) Write syntax and purpose of the following (any 4) : [8]

(D)
(2)
(3)
(4)
(5)

CInt( )
Log( )
Sqr( )
Exp( )
Rnd( )

Attempt any two of the following : [16]

(1) State the difference between NOT EXIST & NOT IN.

(2) Explain the embedding of VBScript in HTML.

(3) Explain keyboard and mouse events in detail of VBScript.

[4763]-2017
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5. Attempt any two of the following : [16]
(1) What is an array ? How do you declare a multidimensional
array in VBScript ?
(2) List different types of Joins and explain any {wo with
example.

(3) Explain the types of database security.

[4763]-2017 5



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-2018

S.Y. B.Com. EXAMINATION, 2015
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
Paper III
(Advertising and Media Planning)
(Vocational Course)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term “Advertising”. Explain the importance of animations
and graphics in Advertising. [12]

Or
What do you mean by Advertising Effectiveness ? Explain the pre-

testing methods of testing Advertising Effectiveness. [12]

2. State and explain the factors involved in the selection of an
Advertising agency. [12]
Or

Describe the importance of Advertising research. [12]

P.T.O.



3. Write short notes on (any fwo) : [16]
(a) Objectives of Supply chain management
(b) Media planning
(¢c) Future of advertising

(d) Brand names.

[4763]-2018 2



Total No. of Questions—2] [Total No. of Printed Pages—1

Seat

No. [4763]-2019

S.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATIONS
Paper III
(Relational Database Management System)
(Vocational Course)
(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following (any four) : [20]
(a) Explain DDL Command with example.
(b) Define attribute and give any five types of attributes.
(c) Define E-R Model and give any five symbols used in E-R diagram.
(d) Explain constraints in SQL.

(e) Differentiate Generalisation and Specialization.

2. Write short notes on (any four) : [20]
(a) Normalisation
(b) Foreign key
(¢) Select Command
(d) Group by and Having

(e) Update command.

[4763]-2019 1



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4763]-2020

S.Y. B.Com. EXAMINATION, 2015
TAX PROCEDURE AND PRACTICES
Paper III
(Income Tax)

(Vocational Course)

(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(i) What are the consequences for non-payment, late payment or
less payment of ‘Advance Tax’ ?

(ii) What is meant by ‘Person’ under Income Tax Act ?

(i) What are the provisions for claim of exemption for ‘House
Rent Allowance’ ?

(iv) What are the deductions available u/s 24 ?

(v) What is meant by CII ? How is it determined ?

(vi) What is meant by ‘Revision’ under I.T. Act ?

P.T.O.



(vit) What are the provisions relating to deduction from Gross Total

Income in respect u/s 80C ?

2. Answer in 50 words each (any two) : [8]
(a¢) What are the heads of income ? Why is income classified into
different heads ?
(b) Enumerate powers and duties of Income Tax Officer.
(¢) What is PAN ? What are the importances of PAN ?
(d) How would you determine the residential status of a

‘Company’ ?

3. Answer in 150 words each (any fwo) : [10]
(a) What incomes are taxable under the head ‘Income from other
sources’ ?
(b) What is meant by ‘Appeal’ ? Discuss Ist Appeal under Income
Tax Act.
(¢) What is meant by ‘Self Assessment’ ? How is it made ?
(d) What are the exemptions available u/s 54 of Income Tax

Act ?

4, Enumerate and discuss provisions for ‘Interest’ and ‘Penalties’ under

Income Tax Act. [12]

[4763]-2020 2



Or

Mr. PQR furnished the following particulars for year ended

on 31-03-2015 :

Profit and Loss Account

To Salaries

To Rent

To Drawing

To LIC premium

To Car Expenses

To Corporation Tax
(for let out House)

To Net Profit

2,56,000
61,000
15,000

5,000

18,000

6,000

4,49,000

8,10,000

By Gross Profit

By Discount Received
By House Rent

By Interest on F.D.
By Interest on N.S.C.

By Interest on S.B. A/c

[12]

5,00,000
12,000
2,50,000
15,000
25,000

8,000

8,10,000

Salary includes salary paid to relatives ¥ 56,000 Car expenses includes

50% for personal use.

Compute taxable income and tax payable.

[4763]-2020



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4763]-2021

S.Y. B.Com. EXAMINATION, 2015
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
Paper IV
(Personal Selling and Salesmanship)

(Vocational Course)

(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What do you mean by marketing mix ? Write a detailed note on
element of marketing mix. [12]

Or

State and explain various qualities required by an ideal salesman

to become successful salesman. [12]

2. State and explain various stages in process of selling. [12]
Or

Write a note on consumer sales promotion. [12]

P.T.O.



3. Write short notes on (any fwo) : [16]
(1) Types of markets
(2) Factors influencing retail markets in India
(3)  Social marketing
(4) Selling skills.
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Total No. of Questions—2] [Total No. of Printed Pages—2

Seat

No. [4763]-2022

S.Y. B.Com. EXAMINATION, 2015
COMPUTER APPLICATIONS
Paper IV
(Theory)
(Software Engineering)
(Vocational Course)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(i1) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(@) Define System. Explain various characteristics of System.

(b) What is Software Engineering ? Explain Spiral Analysis.

(¢c) What is Flowcharting ? What are the different symbols used
in Flowcharting ?

(d) What is Normalisation ? Explain the different forms of
Normalisation.

(e)  Who is System Analyst ? Elaborate the multifaceted role of

system analyst.

P.T.O.



(a)
(®)
(c)
(d)
(e)

[4763]-2022

Write short notes on (any four) :

ERD and Symbols used in ERD
System Testing

Psuedo-Code and Structured English
System Requirement Specifications

Fact Finding Techniques.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

[4763]-2023

S.Y. B.Com. EXAMINATION, 2015
TAX PROCEDURE AND PRACTICES
(Vocational Course)

Paper IV
(Wealth Tax, Service Tax and L.B.T.)
(2013 PATTERN)

: Two Hours Maximum Marks : 40
:— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer in 20 words each (any five) : [10]

(1) How is the ‘Net Wealth’ computed under W.T. Act, 1957 ?

(2)  What do you mean by “Valuation date” and “Debt owed” under
W.T. Act ?

(3) What do you understand by valuation of assets under W.T.
Act ?

P.T.O.



(4)
(5)
(6)

(7)

(2)
(i)
(ii1)
(iv)
[4763]-2023

State the Constitutional background of Service Tax.

What is the incidence of Service Tax ?

In which form and which records of registers shall be maintained
by the dealers under L.B.T. ?

To whom application for registration shall be made by dealer

and in which form number, under L.B.T. ?

2. Answer in 50 words each (any two) : [8]
(¢) Explain in brief the deemed assets under W.T. Act.
(b) State the various taxable assets under W.T. Act, with
exceptions.
(¢) What do you mean by ‘Service Tax’ ? How is it determined
and paid ?
(d) Under which circumstances the Commissioner shall assess a
registered dealer under L.B.T. ?
3. Answer in 150 words each (any two) : [10]

Explain various exempted assets u/s 5 of W.T. Act.
How the valuation of Building u/s 7 of W.T. Act is made ?
Write a note on filing of e-Return under Service Tax Act.

Write a note on “Lump-sum payment” under L.B.T.

2



4, Answer in 500 words (any one) : [12]
(A) State the administrative authorities under W.T. and explain
their powers, duties and responsibilities under the Act.

(B) Explain in detail the Submission of Returns under Rule-29

of L.B.T.

[4763]-2023 3
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